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UNLESS OTHERWISE SPECIFIED:
GEOMETRIC DIMENSIONING & 
TOLERANCING PER:  ASME Y14.5M-1994
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
      X     0.5       X.XX    0.05
      X.X  0.3       X.XXX  0.025

ANGLE:  

BREAULT RESEARCH ORGANIZATION, INC.
6400 EAST GRANT ROAD, SUITE 350

EDGE DIA TOL

       OVER SPECTRAL RANGE FROM 1.3 TO 2.5 MICRONS.

      FINE GRIND OTHER SURFACES.

7)  NO VISIBLE STAINS PERMITTED.

6)  COATING:    AR COAT S1 AND S2 WITH R(AVG) < 1% AND R(MAX) < 1.5%

.5)  BEVEL EDGES < 1.0 FACE WIDTH @ 45

0.150
CONIC

22.00 MIN
+0.00/-0.1026.000

8)  BAG AND TAG PARTS WITH PART NUMBER AND REVISION LEVEL.

22.00 MIN

      TOLERANCES ARE SPECIFIED AT 632.8 NM OVER THE CLEAR APERTURE.

9)  CONIC:  MARK AN ARROW ON THE EDGE POINTING TO THE CONIC SURFACE.

10.000
0.2 % 10 MICRONS

4)  SCRATCH/DIG:  80-50

2 FRINGES5 FRINGES
HERAEUS INFRASIL 302

                     0.050 ETD FROM S1 TO S2.
3)  WEDGE TOLERANCE:     

44.6860 CX

NOTES:  UNLESS SPECIFIED OTHERWISE

1)  MATERIAL:  HERAEUS INFRASIL 302

2)  POLISH S1 AND S2 TO RADIUS AND IRREGULARITY TOLERANCES INDICATED ABOVE.  

REVISIONS

REV ZONE DESCRIPTION DATE

- ALL PRE-RELEASE DRAFT 2013/01/31

A ALL UPDATED RX 2013/03/04
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SCALE 4 : 1
SECTION A-A 

S2
SAG =                  cy2          _               

                    1 + [1-(1+k)y2c2]1/2     

 

  WHERE: 

    y = RADIAL DISTANCE FROM VERTEX (SEMI-DIAMETER) 

    c = CURVATURE = 1 / R 

    R = VERTEX RADIUS 

    k = CONIC CONSTANT 

 

CONIC PROFILE DIAMETER:  26.000 MM 

VERTEX RADIUS:  30.763 MM CX 

CONIC CONSTANT:  - 2.0 +/- 0.10 

 


